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( /10) ( /108) () [@D) (/) (/) (ko/10a) (kg/10a) (kg/10a) (  /10a) (  /10a) (  /10a) (  /10a)
33,333 5.6 66.0  34.0 268 161 5,896 1,825 7,721 23.6 3.7 27.3 21.7
10 26,667 4.5 64.0  36.0 265 193 4,523 1,853 6,376 18.1 3.7 21.8 17.3
12 22,222 3.7 64.0  36.0 302 162 4,295 1,296 5,591 17.2 2.6 19.8 16.1
15 17,778 3.0 77.5  22.5 340 193 4,685 772 5,457 18.7 1.5 20.2 17.2
8 33,333 5.6 48.9  51.1 258 156 4,205 2,657 6,862 16.8 5.3 22.1 16.5
10 26,667 4.5 78.0  22.0 282 167 5,866 980 6,846 23.5 2.0 25.5 21.0
12 22,222 3.7 78.0  22.0 293 160 5,079 782 5,861 20.3 1.6 21.9 18.2
15 17,778 3.0 89.7 10.3 329 229 5,247 419 5,666 21.0 0.8 21.8 18.8
* 1.68
** 40 /kg 20 /kg
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10 . Y= 0-3356x + 5.5262 y = 0.2338x + 4.625 y = 31.846x + 47.351 y = 24.17x - 67.43
R = 0.3498xx R? = 0.4061 xx 450 ¢ R? = 0.3687 xx RY = 0.5078 **
* [m] A
0{ DDE A “A 400 r b A
9 & A a
350 A
~ A @ MX, A
-~ 8 300 :
aMa
; y = 0.1938x + 3.9285 250
R? = 0.5454 y = 19.546x - 128.92
20 ¢ R? = 0.6491,,
6 ‘ 150 ‘ ‘ ‘ ‘ ‘
0 5 10 15 20 25 30 0 5 10 15 20 25 20
- ) g )
2010 2010
iy 2009 24 12 448
2) 150cm>= 12cm 20cm
3) N9.5 P17.5 K8.8(kg/10a N4_8kg P3.0kg K4.2kg kg/10a >< 2009
12 22 2010 19



